
Maths Homework Y5 Mrs Ferrier and Mrs Davis 
Date set:2/12/20 
Date due: 7/12/20 

You need to complete both sections 
 
 
 

Section 1 –  
 
1. 486,229 = 480,000 + ?+ 29   6,200 

 
2.  What is the value of the 1 in this 
number:     281,664     1000 
 
3. Put these numbers in ascending 

order: 
 
233877  253788  253878  253887    
 
4.  8 = 64 ÷ 8 
 
5.  48 = 8 x 6  
 
6. The temperature is 3oC.  It drops 

overnight by 9oC.  What is the new 
temperature?   -6oC 

Section 2 – You must show your 
working out for each calculation. 
 
1. 6739 – 2574 = 4165 
 
2. 82,936 – 47,251 = 35,685 
 
3. 718,553 – 483,834 = 234,719 

 
 
Check each of your calculations in 1, 2 
and 3 with the inverse (addition). 
               ============== 
Example:   642,893 – 371,775 =  
                               Inverse to check: 

   6 4 2,8 9 3           2 7 1, 1 1 8 
   3 7 1,7 7 5  -        3 7 1,7 7 5 + 
   2 7 1,1 1  8            6 4 2,8 9 3 
 

 
 

 

5 8 1 1 

1 1 


